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Thy (first Isomorphism Theorem)

Sps 9 : G ,
→ Gz is a homomorphism .

let y (G) = = image of 6 , in Gn under 9 .

Then
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{y (g) I g c- G
,
GGG"

re g ( G, ) .

0cg)

'

I/ \
...

g Kerce

#

←
991=6,

Gilkey k Gz.



←
recall previous example(proof. . . .

EI 12/812 I 12g
same as proof of 1st Iso'm thin .

Define g : 12- 12g by y la) =

← Note: domain is 12
,
not 12/812

.

Then y is a homomorphism:

4 (at b) = Catb)mod 8

= amod8

grout operation in 12g .

Further
,
Ker y =

Finally , y is out
.

Thus
, by first isomorphism theorem
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BIG IDEA : can prove the theorem once, in full generality,
then apply it in many different situations.-
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this holds by T ( t b.mod 8) mod8 -- Kalt cells)
earlier result )
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